Chapter 20: The Industrial Revolution and Its Impact on European Society

Lesson 3: The Social Impact of the Industrial Revolution

Opening the Lesson:

1. There are a number of far-reaching social changes associated with the I.R. The major changes were demographic; population increased dramatically. For example,

a. In Britain the population went from 9m in 1800 to 21m in 1850 to 32m in 1900; in 1780 there were only three cities outside London with 50,000 but by 1850 there were 30

b. The European population grew from 188m in 1800 to 266m in 1850 to 450m in 1914

2. Why did these dramatic increases take place?

Developing the Lesson:

I. Population Growth (records became reliable in the nineteenth century because of systematic census taking).

A. Figures.

1. In 1750, total European population was around 140 million.

2. By 1800, it was 187 million.

3. By 1850, it was 266 million.

B. Why?

1. Higher birthrates?

i. No.

ii. Birthrates had been declining since 1790.

iii. Between 1790 and 1850 the birthrates in Germany, G.B. and France had declined.

2. The answer was the decline in death rates. People were living longer. Why?

i. Decrease in the numbers of famines, epidemics and war.

ii. Increase in the food supply.

C. Impact of the I.R.

1. The I.R. did not contribute to the increases in population.

2. But, industrialized areas changed the composition of the population.  

i. The number of people living in industrialized areas worked in the manufacturing sectors, mining and building.

ii. Not very many areas were industrialized.  They were, “islands in an agricultural sea.”

3. The increase in population really affected the rural areas.  More people resulted in the land having to be divided into smaller areas. Also, there was an increase in rural poverty and landless peasants.  This was especially evident in Ireland.

D. Ireland and the Great Hunger

1.  The predominantly Catholic peasant population rented land from mostly absentee British Protestant landlords.

2. The Irish lived in terrible poverty.

3. The potato became the staple crop.

4. Between 1781 and 1845, the Irish population doubled from 4 to 8 million.

5. Between 1845 and 1851, The Great Famine (caused by a fungus that attacked potatoes) resulted in the deaths of over one million (from starvation and disease) and the emigration of over two million to the U.S. and G.B.

E. Nineteenth century European emigration.

1.  Between 1821 and 1850, European emigrants averaged around 110,000 a year.

2. Most came from Ireland and southern Germany.

3. Most of these emigrants left rural poverty and moved to industrial centers in their own nation before going to other countries.

4. Consequently, by the mid-nineteenth century, Europe witnessed a period of rapid urbanization.

II. The Growth of Cities

A. G.B.

1. Traditionally, cities had been the centers of princely courts, government and military offices, churches and commerce.

2. By 1850, especially in G.B. and Belgium, cities were becoming centers of manufacturing and industry.

3. In 1800, London had a population of one million and six cities between 50,000 and 100,000.

4. By 1850, London was at 2, 363,000 and nine cities over 100,000. More than 50% of the British population lived in cities.

5. Britain was forced to become a food importer instead of an exporter.

B. The Continent

1. Paris.

i. 1800—547,000.

ii. 1851—1 million.

2. German States and Austria.

i. 1800—3 cities over 100,000.

ii. 1850—only 5 over 100,000.

iii. Urbanization happened at a slower rate.

C. Urban Living Conditions in the Early I.R.

1. Pre-I.R. living conditions were bad. Post-I.R. even worse.

2. The wealthy and middle-class lived on the outskirts of the city (suburbs).

3. The industrial workers lived in the center of the cities.

i. The houses were built in rows.  They were small shacks. Many lived in the cellars with no windows or ventilation.

ii. Sanitary conditions were horrible. Streets were used as sewers. Human waste was thrown into the streets.  The cities smelled bad and were plagued by disease.

iii. There was the issue of the adulteration of food.  Alum added to bread to make it look white; beer and milk were watered down; red lead was added to pepper.

4. The role of the government. (1820s)

i. The French and British governments began to look into living and working conditions.

ii. In G.B., the Poor Law Commission began to investigate living and working conditions. They reported on the physical and moral effects of urban life on the poor.  

1. Physical: young men were often short and scrawny.

2. Moral: Prostitution, crime, and sexual immorality.

D. Urban Reformers

1. Many middle and upper class citizens feared that the condition of the urban workers might cause them to revolt.

2. James Kay-Shuttleworth (G.B.) was a reformer.

3. Edwin Chadwick (1800-1890). One of the most famous reformers.

i. He was the secretary of the Poor Law Commission.

ii. Published—Report on the Condition of the Labouring Population of Great Britain (1842).

1. Advocated the creation of a modern sanitation system and department.

2. This resulted in the creation of the first Public Health Act and the National Board of Health.

4. Many middle class citizens supported these reforms because they feared outbreaks of disease especially cholera.

III. New Social Classes: The Industrial Middle Class

A. Early Middle Class.

1. The bourgeoisie was not new. Originally they were merchants, officials, artisans, lawyers and scholars.  They had certain rights based on town charters granted by monarchs.

2. As wealthy towns people began to buy land, others were included as part of the bourgeois. Such as, people involved in commerce, industry, physicians, banking, teachers and government officials at all levels.

B. The Industrial Middle Class.

1. What did they do?

i. Built factories, purchased machines, created markets and raised capital.

2. Where did they come from?

i. Many came for the mercantilist world as both owners of manufacturing factories and even from the ranks of apprentices.

ii. Others came from religious minorities. Such as Quakers.

iii. Some came from the aristocracy.  

C. The new business aristocracy.

1. Came from the professional and industrial middle class, especially as sons inherited their fathers successful business and wealth.

2. This was also the period of small business.  Mega corporate capitalism does not begin until the 1890s.

3. The new industrial entrepreneurs—the bankers and owners of factories and mines—began to compete with the traditional landed elites.  They sought political power and many of them would merge with the old landed elites.

IV. New Social Classes: Workers in the Industrial Age

A. Who were they?

1. Artisans and craftspeople were the largest group in the early nineteenth century but they were not industrial workers (they were skilled).

2. Servants were also part of the urban working class—most were women.

B. Working conditions for the industrial working class.

1. Work hours ranged from 12 to 16 hours a day, six days a week, with half an hour for lunch and dinner.

2. No job security or a minimum wage.

3. The worst conditions were in the cotton mills and coalmines.

4. A significant number of workers were women and children (exploited because of their size and cheap wages).

5. “Pauper apprentices,” orphans or abandoned children.  Local parishes loaned them to factory owners in exchange for money.

6. By 1830, 2/3 of the cotton industry’s labor force was made up of women and children.

7. This changed with the passage of the Factory Act of 1833.

a. Reduced the number of children.

b. Increased the number of women.

8. Using women and children in factories was an accepted practice because it resembled the pre-industrial cottage system that required the use of all family members.

9. Most women worked as domestic servants.  In 1851, 40% of all females working in G.B. were domestics.

V. Standards of Living

A. The Early I.R.

1. The early I.R. resulted in a widening of the gap between rich and poor.

2. In the long run the I.R. improved the standard of living.

3. The early I.R. also produced periods of overproduction and short-term depression.  As a result, unemployment and social tension increased dramatically at times.

B. Who benefited?

1. Overall, between 1790 and 1850, real wages did increase and prices did decrease.

2. The middle class and some skilled workers benefited the most by the early I.R.  Skilled workers did not benefit until after 1850.

VI. Efforts at Change: The Workers

A. Origins of Labor Organizations

1. Workers began to push for better working conditions and wages.

2. The British government passed the Combination Acts in 1799 and 1800.

a. These acts outlawed associations of workers.

b. These laws were a reaction against the radicalism of the French revolutionary working class.

c. They failed to prevent the formation of trade unions.

3. Skilled workers formed trade unions in order to limit the number of people entering their fields and to push for employment benefits from their employers.

4. Some early trade unions organized strikes.

a. 1810—Miners in Northumberland and Durham.

b. 1813—Hand-loom weavers in Glasgow.

c. 1818—Cotton spinners in Manchester.

5. In 1824, Parliament repealed the Combination Acts and unions were now tolerated but carefully watched.

B. Robert Owen (1771-1858)

1. Cotton magnate and social reformer.

2. Promoted the idea of national unions.

C. Luddites

1. The Luddites were skilled workers that resented machinery.

2. In 1812, in northern England they attacked and destroyed factory machinery.

3. The government was never able to catch them because the local population protected them.

D. Chartism

1. The first significant political movement of working men in the nineteenth century.

2. Goals.

a. Create political democracy.

b. 1838—drafted a “people’s charter,” which demanded ums, payment for members of Parliament, and annual sessions of Parliament.

3. They presented these demands to parliament with millions of signatures in 1839 and 1842.

4. Both were rejected.

5. By 1848, Chartism as a force had died out but it succeeded in creating a sense of a working-class consciousness and proved that the working class could mobilize politically (eventually the British government would accept all of the points of the people’s charter).

VII. Efforts at Change: Reformers and Government.

A. Reformers

1. Romantic poets: William Wordsworth wrote against the destruction of nature.

2. Factory owners and MPs argued against child labor. 

B. Government reforms in G.B.

1. A series of Factory Acts were passed between 1802 and 1819 that limited labor for children between 9 and 16 to 12 hours a day; employment under the age of nine was illegal; children were to be taught how to read and write at work.

2. Problems.

a. These laws only applied to cotton mills, not to factories and mines.

b. Almost impossible to enforce.

3. The Factory Act of 1833.

a. Strengthened earlier labor laws.

b. All textile factories were included; children between 9 and 13 could only work 8 hours a day; those between 13 and 18 only 12 hours a day; factory inspectors were appointed with the power to fine factory owners.

c. More legislation in 1833 required children to receive 2 hours of elementary education a day.

4. Coal Mines Act (1842)

a. Made it illegal to employ boys under 10 in mines.

b. Women were also included.

5. Ten Hours Act (1847)

a. Reduced the workday for children between 13 and 18 to ten hours a day.

b. Women were also included.

Concluding the Lesson:

There are a multitude of worksheets.

